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from class B

Should China Keep the One-Child Policy?

One-Child Policy, as a renowned basic national policy, is familiar with almost everywhere in China. It was based on Chinese existing situation, sum up the experience of practice and constituted by the Sate Council. Facing with the serious current situation that all kinds of natural and social recourses cannot satisfy the increasing population, the policy optimized the social environment and provided much superior developing space in some degree. Making a comprehensive survey on the main characters of Chinese population, we can found out two obvious cruxes, that is, “the huge cardinal” and “the inferior quality (including body quality and culture quality)”. It is obvious to say that
 its merits and achievements are incontestable
. It gradually became Chinese obligation and common view. We have controlled the declining tendency and harmonized the relationship between nature and society. On the other hand, some experts also started to consider that “should China keep the One-Child Policy
?” 
First of all, as the executing of the policy, pursuing the less population became an indistinct goal to the normal Chinese people. So it is necessary to redefine this policy. Some of us even think that we will own more natural recourses
 and social wealth if we have less people. We put our eyes on the “per capita recourses” and planning way all the time, but we ignore some more important things
.
Population, as one of the most important worthy factors on evaluation of comprehensive national strength, is the mainstay of a great people. In the natural area, it continues the lives of human being; in the social category, it belongs to the relation of production and promotes our spiritual wealthy 
and culture. 
Why our people became the final winner of the war of Resistance against Japan (1937-1945)? 
Why we can beat back successfully the strongest army in the world in the war to resist U.S. aggression and aid Korea?
 What makes our Huang River civilization becomes the only rarity of the four countries with ancient civilization
? 
The answer is a steady flow of generations. Though every one of them just likes a grain corn in the wide sea, they managed their common ground diligently and cast spiritual monuments.

Secondly, from the angle of Chinese traditional psychology, it is really a hard thing to make a normal Chinese (especially a farmer) accept this policy. China has a long history of centralized feudal country. The peasantry occupy the mostly population of the whole   country, and the only way of developing is to have larger population. The huge population brings more ground, more wealth and the basis of the kingdom
. 
China is nation of etiquette and Chinese is a people 
who laid stress on tradition and courtesy. Having more sons and grandsons has become one of the most traditional auspicious words
. This kind of conception have already penetrate in all kinds of social areas in the past thousands years. In Buddhism, Children-sending Kwan-yin is the most classical totem in different works in art. The pomegranates were treated as the most joyous fruit just because it is filled with seeds. 

Nowadays, though China is no longer a centralized feudal country, the agricultural population account for more than ninety percent of Chinese People. Moreover, the level of agricultural science is still in the developing stage, some useful agricultural technology cannot popularize in vast area, especially some remote impoverished district. So
 we can found that some farmer would rather impose
 a fine than obey the policy. Sometimes, in order to get more son (male labor force), the women even became the machine of reproduction. The outgoing must be privation 
and most of these rural children, especially the girls, cannot receive good education and growing environment. This situation also will lead to inferior quality of the population
.
    Thirdly,
 the One-Child Policy brings huge burdens to the whole society. Before the practice of the policy, it was normal to see a couple have three or four children in a normal family. Nowadays, a young couple must support four old people. If they want to have a little child, there will have seven mouths to feed. All kinds of problems troubled the young, and even if one of their parents gets serious illness or their child needs educational cost, their life will very hard!

Some experts also noticed that if a child growing a lonely living environment, his or her characteristic will be influenced by lonesome more or less. They do not have any brother and sister, and gradually become unsociable and eccentric guys. So the policy is a cruel regulation to children, and it is harmful to their psychology
.
The old people also taste the bitter pill of One-Child Policy. When their children get married or go to work, they must be accustomed to bear the lonesome. They cannot choose the way that they are looked after in turn, because they have only one child.

Fourthly, One-Child Policy brings a series of complicated social problems. The poor farmer which account the most part of the whole population cannot afford forfeit
, but the rich can have more children as their like. This situation aggravates the class contradiction and gap between the wealthy and poor. The children who came from the rich family also can get excellent education and their parents also many important connections in all the fields they worked. All these superior conditions can help the children still be very rich, and their brothers and sisters will also undertake their parents’ affairs. However, some rural children bear the danger of starvation every day, nothing to say receive what kind of education.

 Actually, I think consummate a policy 
is an essential process. It must be practiced by several real social cliques and the decision makers must think of all probable factors and influences and discussing the feasibility. For example, to this policy, I think that the rule of “late married
 and late childbirth” is deserved to encourage. It reduces the heavy burdens to the young and make them prepared more time to accumulate the wealth and fulfill their career dreams. On the meanwhile, they can have enough time to gain some life experience after they graduated from schools.

The former national chairman Mr. Dong Xiaoping had a famous sentence: The science and technology is the first productivity. The key of solving this question is developing the science and technology, especially on agriculture. The One-Child Policy needs improve and perfect and it should be added some content about rural facts. If some connected agricultural regulations can be carried on isochronously, it must get a better effect
.
Essay 3: Argument Paper 
	
	Levels of Achievement

	Criteria
	4
	3
	2
	1

	Introduction, thesis, and conclusion

(    4x 5 =     )
	Intro is engaging and presents multiple positions of argument, argumentative thesis clearly stated and creatively developed, conclusion recasts thesis in a new light and makes connections to the larger world.

	Intro grabs attention somewhat, provides some info on other sides of the argument, thesis is implicitly stated but clear, conclusion reiterates thesis with little implication for the larger world.

	Intro provides little info about other sides of the argument and does little to capture attention, thesis is implicit and hard to find, conclusion makes little reference to thesis 
10
	Intro provides no info about other sides of the argument, does not capture attention, thesis is not explicit or not present, conclusion does not refer to thesis and does not add to cohesion of paper

	Argument
& organization

(    6 x 5 =    )
	Argument is identifiable, reasonable, and sound. Counter-arguments are included and successfully refuted. Every main point is supported by persuasive evidence. Paragraphs with clear transitions are clearly ordered with the argument progressing in a logical fashion.
	Argument is generally reasonable and identifiable but not always sound. Counter-arguments are included and defused somewhat.  Main point is supported by some evidence. Order of paragraphs could be better organized. Some transition sentences and cohesion markers are used but could be more effective 30
	Argument is barely reasonable and identifiable. Counter-arguments are included without defusing them. Few major points are supported by evidence and examples. The order of paragraphs doesn’t make sense in most of the paper, transition sentences and cohesion markers are rarely or inappropriately used
	Argument is not identifiable with no supporting evidence or examples. Counter-argument is not included. Paragraphs seem to be out of order and haphazard, no transition sentences or cohesion markers are used

	Audience awareness

(    6 x 5 =     )
	Targets specific audience. Engages audience effectively throughout paper. Has an academic and consistent tone throughout the paper. Provides sufficient background info about the topic to the audience
	The specific audience is generally identifiable. Engages audience through most of the paper, can capture but not sustain interest. Has a somewhat academic tone. Provides some background info about the topic to the audience
30
	The specific audience is barely identifiable. Has little engaging qualities to hold the interest of the audience. The tone is inconsistent and inappropriate through most of the paper. Provides little background info about the topic to the audience
	There is no specific audience. Does not hold audience interest. The tone is inappropriate and inconsistent throughout the paper. Provides insufficient background info about the topic to the audience

	Use of sources 

(     x 5 =    )
	Quotations,  paraphrases, and visuals are well integrated into the text and are adequately analyzed. At least 5 sources are referred to.
	Quotations. Paraphrases, and visuals are somewhat integrated into the text and analyzed. 5 sources are referred to.
	Quotations, paraphrases, and visuals are scarcely used and analyzed or overly used. Fewer than 5 sources are used. 
10
	Quotations, paraphrases, and visuals are not used or used incorrectly or inappropriately. Fewer than 5 sources are used.

	Language

use & mechanics

(     x 5 =    )
	Sentences are clearly written, economical, varied in structure. APA style correctly followed. Impeccable spelling, grammar, word order, word usage, and punctuation, good use of 
academic language.
	Sentences are generally clearly written except for some wordiness or repetition. APA style generally followed. Few errors in spelling, grammar, word usage, and punctuation.
	Sentences could be improved a lot. There are many cases of wordiness or repetition, and choppy sentences. APA style barely followed. Several errors in spelling, grammar, word order, word usage, punctuation. 10
	Sentences are poorly written, problems with wordiness, repetition, or choppy sentences. APA style was not followed. Many errors in spelling, grammar, word order, word usage, punctuation.


Dear Lisa,

This paper is concerned with a very controversial and current topic in China.

However, it can be revised extensively and improved.

First, no outside source is used to support the claims.

Second, an opposing view is mentioned implicitly only once. This assignment requires you to acknowledge two opposing ideas and refute them well.

Third, there are too many grammar and language problems, which might have been prevented if you had received some peer feedback.

Fourth, it does not follow the academic format APA; I don’t even see any page numbers.

Overall, this paper is inadequate.

Your grade is 90/200
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�It is obvious that


�If it is “not open to dispute” how can it even be a controversial issue?


�Where is your thesis statement? What is YOUR position on the issue?


�What is this?


�Do not use the word “thing” in an academic paper. Replace it with a word that is more precise in meaning.


�How exactly?


�This sentence is not a question grammatically.


�This one is not, either.


�These four countries is not a common knowledge. For example, I do not know what those 4 countries are; and I wonder. You do not want to make your reader wonder in an academic paper.


�This one and the previous two paragraphs seem to belong one single paragraph.


�Are people


�The meaning is not clear. 


�Find a more appropriate link: Therefore, 


�I don’t think it is the farmer imposing the fine.


�You mean: “this results in privation”?


�These points do not seem to support your position on the issue. If these are the views of the people who are opposing your idea, you need to make it clear. In addition, you need to refute these ideas.


�These numbers do not seem to reflect the number of arguments you have mentioned. Isn’t this supposed to be the fourth point you are making?


�Verb is missing


�Outside sources are needed to support this point.


�“the forfeit” You need to give a background information about this forfeit. How many yuens is it to have an extra child?


�“not to mention the kind of education they receive”


�Meaning is not clear. Which policy? Or you mean “the existing one-child policy” ?


�marriage


�This paragraph is dealing with another solution. But it is not your conclusion. You also need a conclusion paragraph where you summarize all the points you made in the paper.





